#27|2 ABE &N0| s
72 23 off|E cosa

gazses: [l one as=sems: [ ams |

| ENES [ zue

17

B a=gseH=) 14,000

1072¢

- 3 ?
‘ 3@'{' 16,6502
[ Pl
N

HI ST (HET kg0, 2043)
[ e L)

10,094

7.850u

1 8t 160t

D

300 é5_0%k§
olgtzjok
=m Q| A2l
08t 03t

140w Suw

e
873w 38

x| |
3 .1 = 2l

Lto|x|2|of

Xtmlo|7k

50t 150t

—_—
833uh 234w

U= oleloHIM ERx  HIHMEHFT
(20 7H=)
topza|zt

19,1481 1938

ﬂ‘gﬂ ﬂl?l LI7M}9| qE.'E_‘ZIiI(PCU C)/LIZIALZ| S227| :}l{\ﬂEI(RECNA)/F_ii{I HI0JE{: http:/www.recna.nagasaki-u.ac.jp/recna/datebase/nuclear0/fms




